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LEXICAL ITEMS

Choose the correct answer-

Q.1 Choose the correct word from the following which has a different sound of
the underlined letter-

(A) Cut (B) Put (C) But (D) Shut ( )1
Q.2 Choose the similar meaning for the given word “beautiful” ------

(A) Pretty  (B) dark (C) nasty (D) ugly ( )1
Q.3 Ram and Shyam are my friends.--------- help me

(A) He (B) She (C) us (D) They ( )1
Q.4 Mahesh -------- Raman went to the market.

(A) or (B) She (C) and (D) Therefore ( )1

Q.5 Fill in the blanks to make the correct sentences with the help of words
given in the bracket----- 1+1=2
( broom, promised, dustbin )

(1) My Father ----------------- me to take to the fair today.
(i1) With the help of ------------------ , | clean my room daily.

Q.6 Fill in the blanks with proper alphabet and complete the following words:

I[+1+1=3
(i) C_LOURS
(i) DRI_K
(iii)) VILL GE
Q.7 Make new words by. adding suffix-‘ful’ and ‘ly’--- 1+1=2
(1) Loud--

(i1) Care--



STRUCTURAL ITEMS

Q.8 Fill in the blanks with appropriate words given in bracket----- 1+1+1+1=4

(1) Raju a letter to his father. (write / writes)
(11) Kavita to the museum yesterday. (go /went )
(i11) The king in a palace. (lived / living)
(IV) The children are in the playground. (playing / plays)
Q.9 Arrange the jumbled letters to make a meaningful word------- 1+1+1=3
(i) THCAERE -
(i1) TGIER -

(iiiy ALEPP -

Q.10 Fill in the blanks with appropriate words from the bracket to complete the

following sentences :- 24+2+2=8
(1) Always help the to cross the road. (old people/shopkeepers)
(i1) Green light tells us to (wait/go)
(i11)) We should keep our place ( untidy/ clean)
(iv) Brush your teeth . (weekly/ daily)
Q.11 -14 Fill in the blanks in the passage using the words from the given bracket:-
2+2+2=8
( clothes, festival, children, happy )
Diwali is the (11) of lights. People decorate their
house.(12) eat sweets and burst crackers. New
(13) are put on. Everyone is (14)

READING COPREHENSION AND TEXTUAL QUESTIONS
Read the following passage and answer the following questions given below------

Once there lived a man named Roshanlal. He loved cars. He used an old car that
could run only at the speed of a cycle. He saved money for years to buy a new car.
At last the great day arrived! He had enough money to buy the fastest car in the
country. He dressed carefully for the moment and reached the grand show room.
He swooned with delight when he saw the red, swanky sports car soon the paper
work was over and the car was his.



Q.15 (i) Why did Roshanlal save money ? 2

(i11) What car did Roshanlal use? 2
AN~

Q.16 (1) Why did Roshanlal get dressed carefully ? 2
AN S = oo e s
(i1) Give the opposites of the following words from the passage ----- 1+1=2
(a) New -
(b) Slowest-
(i11)) What did he save to buy a new car? 2
AN e s

Q.17 (i) Where did Roshanlal reach to buy a new car? 2
AN ==

(11) What happened when he saw the sports car? 2
N

Read the passage and answer the questions given below.------

In a small tribal village in Rajasthan, there lived a girl. Her name was Seema.
Seema’s family was not very poor. They had some land, some cows and buffaloes.
In the same tribal village, there lived another girl. Her name was Ritu. She was
brave and beautiful. But she was poor. Seema did not like her and she was not
happy to see Ritu.

Q.18 (1) What did Seema’s family have ? 2
AN~
(1) Where did Seema live? 2
AN~
(111) Whom did not Seema like ? 1
AN~
Q.19 (1) What qualities did Ritu have? 2
AN~ -
(i1) Name the state of Seema’s family ? 1
AN =
(i11)) Why did not Seema like Ritu ? 2

AN~ e



Q.20 (1) Read the passage and give the opposites of the following words- 1+1=2

(a) Rich -
(b) Big -
(11) Write the plural form of the following words- 1+1+1=3
(@) Girl ..........
(b) Cow ...........
(c) Family ...........
WRITING
Q.21 Imagine you are Asha/Ashish. Write a letter to your friend inviting him/her
gine'y y g
to attend your sister’s marriage. 8
OR

Imagine you are Divya/Dinesh studying in Govt. upper Primary school Kota
in class 5. Your grandmother is very ill and she is alone at home. Therefore
you cannot go to school. Write an application to your Headmaster

to grant you leave for two days.



Q.22 Complete the story ‘A Hungry Fox with suitable words given in bracket-

( grapes, hungry, eat, sad, search, high, grapes, them) 8x1=8
Once upon a time, there was a Fox. One day it was It went here and
there in of food. It went into a garden. There it saw a bunch of ripe
. Ity wanted to the grapes. The grapes were It
jumped at them again and again but could not get then. It was----. It said,
‘The are sour. [ must not eat . It went away.
Or

Look at the picture given below. Write four sentences based on the given
picture. 4x2=8

ITRRT AL e
T AT T S o e AN N B e
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Understanding of shape and space
TeI—1 FHBIOT BT AT BIAT & —

The measure of right angle is -
(ar) 30° @) 60° () 120° (@) 90° ()

gea—2 A & 8 ArRfadl H Wl DIV Bl USAM PR Se g DI T
HHHOT B WU H feTRay 3+3=6
In the given figures, identify all the angles, and write them in the form of acute
angle or right angle -

A D
B C E F
AMGf () A JMRfT (i) H
In figure (i) In figure (ii)
Acute angle Acute angle
HADIUT HHADIT




T S & gH9T

Understanding of the Number system

y3—3 fHfeRad # | SI9ar fdhed 9 & — 1
In the following, which option is true.
(@1) 28506 > 28605 (@) 25806 > 25808
(d) 26580 < 26850 (]) 20658 > 22568 ()

Ye—4 A QU U Ml & FEY AT ToAd B I S BINT IR IAd TeT
& A QT U 9T § F81/ Terd foRau — 2+42+2=6

Check whether the statements given below are true or false and write true or false

in the bracket given in front of the statement.

(i) AT 20005 BT Ieai H T BOIR Ul forad | ()
Number 20005 is written as two thousand and five in words

(i) =T 36375 H b 6 BT W HIH 6000 T | ()
Place value of digit 6 in number 36375 is 6000.

(iii) T MR BOIR Ut Al BT 3fhT H 70500 forad ¢ | ()

Number Seventy thousand five hundred is written in digit as 705000.

yea—5 fau v o ¥ srifed 9RT &7 = U9 <@ wu forRay 1+2=3

In the given figure, write the fraction and decimal form of the shaded area.

(1) T 00 Fraction O ..eeeereeeesooeeeeeeesssseeeesessssseeeeessessseeeee
(i)  <9MHAT ™Y Decimal form........ooccueeceeecieecieeeseeeee e

ye—6 7 foiRad uesl @7 g1 Sy — 3+3=6
Solve the following questions.
() AT 7 9OR ¥ 6 Hex o ) I} @ | 39 98 IR aeforal #
RIER died! § ' IS B fhad Hiex ol 1 ey ?

Bhavna purchased 6m long rope from the market. She divides the rope equally

among her four friends. How much long rope will each get?

(i) FRIIOT DI b HHIN g9 & {7 1.5 Hex HUsT Iy ol U 8 2
S & oI ot foa e FueT @ raegdhar gnft ?

Narayan wants 1.5 meter cloth to stitch one shirt. How much meter cloth is

necessary to stitch 2 such shirts.




wishareil & T
Understanding of the basic mathematical operations
o7 il Rer BT oRH 3fd ® — 1

(o1) gBIS BT 3ib (q) <BTS &I 3ih

() dds BT 3B (@) |1 3im ()

The extreme digit of Number is -
(A) Unit's digit (B) Ten's digit
(C) Hundred's digit (D) All digits ()

yei—8 fARger fafy & [oHwe S1d i | 3
Find the product by Nikhilam method -
12x14

Solve the following
(i) AT AR A SR TP BT b Afdd BT fhram 550 w81 T 15
el &1 fe=man faaer g ?
If the fare of one person from Nohar to Jaipur is Rs 550. Then what will be the

fare of 15 persons.

(ii) IRST & UTH 984 Bl © Al I8y SHD U fha-d Told bl & 7

Nevraj has 984 bananas, then find how many dozen bananas does he have ?

W—m.aﬁmﬁa@ﬂ@ngmwmzﬁrseamﬁﬁw—www
2 | 6

Find the greatest number which is exactly divided by 36 and 54 fully.

yea—11 f=forlRad ueal &1 g HIoTe 2+3+3=8

Solve the following questions.




() B g 3w fafay —

Write the missing digits.
7 6
8 7

4 5 7

(i) 3122, 8050 TAT 738 &I JNT HITT —
Find the sum of 3122, 8050 and 738

(i) 99 @ U 12500 BT T AT 2500 U b (g 7 dern
8000 ®IY B IRNT #ANE TWRIGT & , IaR 9D U9 fhd-l wuY
AY T ?

Naman has 12500 Rs. He purchased sewing machine for 2500Rs and

washing machine for 8000 Rs. Find how much money is left with him?

A D AT
Understanding of Measurement.
geI—12 Gold o y fdhall aad gy B yo U UT fhalumd & 9@ & T2 3
Pl TFhR ¢ BUI go U Ufd fhalum® & 919 A WRIdl | ST
U 316 WYy wU Yo U g BT AT IR I8 fha+l M ody dIoiR
AT off ? 3

Sujal purchased ¥ Kilo rice of 8% Rs %o per kilogram and 8 kilogram sugar for

Rz, Rs &o Paise per kilogram. Now 8% Rs Yo paise is left with her .Then find
how much money she took with her in the market.

B 720 -V 4 1O
Ue—13 3 HUC| § gl fdhaw e 8 8 — 1
(31) 60 fAfIE @) 120 fafve

(@) 180 fafre (@) 150 fafe ()




How many minutes are there in 3 hours.

(A) 60 minutes (B) 120 minuter
(C) 180 minuter (D) 150 minuter ()
ge—14 fr=ARIT BeMl B I /3 H ®Y § Ugenfay — 3

Identify the following statements in the form of true/False.
() fafre @1 9@s § 9gem & fog fe &1 60 &1 91T < B |
(9T / 319 )

To change minute into seconds we divide minute by 60  (True/False)

(i) 1G9 ¥ 3600 WPHS B B | (A / 37)
There are 3600 seconds in 1 hour (True/False)

(i)  3meT =ver 15 fAfte & aRER BT B (T / 3 )
¥, hour is equal to 15 minute (True/False)

ged—15 Rad W=l @ gfid FHIg — 1+1+1=3
Fill in the blanks
() 1500 TTH = oo et
1500 gram = kilogram
(i) 3% THARTT = e I

3% KiIlogram = ..o gram

(i) PR FHIS BT U FHIS H TEGAT B ol oo
A O B B |

To change kilogram unit to gram unit we multiply by

YII—16 WIT ‘37 & YRT ‘¥ F Ha= Hifvw —
Match Part'A' with Part 'B' 3
HRT—37 ART—9
Part'A' Part 'B'
i) 1 fhames (A) 10 fciieR
1 Kilometer 10 milli meter
(i) 1 "X (B) 1000 #HIcx
1 meter 100 meter
(i) 1 ACHeR (C) 100 W<HIER

1 Centimeter 100 Centimeter

YI—17 U JIATBR BIebd STgd! =g 8 Hiex T disls 7 Hlex & 9@
JMER W 4 gedl & IR oy — 4+4=8
One Rectangular Photo frame is of length 8 meter and breadth 7 meter . on the
basis of this answer the following questions

@) 39 BIC%H H o el BIe! & &3he S HIfTY |
Find the area of photo that can be placed in this photo frame.




(i) 9 IAPR BIEBH & IRI AR bS] I gel ! 8, 7+ drell
ARSI D ol oIl S DI |

A wooden strip is to be fixed around the rectangular photo frame. Find the total

length of the wooden strip to be fixed around the photo frame.

B 720 -V o 1O
29—18 1000 fAefielicy & sRTaR B & — 1
(a1) 2 offex @ 3 e
(|) 1 elrex &) 4 iR ()
1000 millimeter is equal to —
(A) 2 litre (B) 2 litre
(O) 1 litre (D) 4 litre ()

UI9—19 Ol & U foad H 15 ofley dof 37dT © | 3750 ollex dof & forv o &)

fpa e @Rie g ? 3
One cane of oil contains 15 litre oil. How many such canes are to be bought for
3750 litre oil.




3ifpel BT Ya=H Ud U &) FHs

Data Handling and Understanding of patterns

gei—20 < 3T 7Y Uef T M 9emy —

Extend the following patterns given below-

—

(S Jp——

4—

, e

@ vv

gy3i—21 feu 77 ded & el ug BN —

The next term in the given pattern is -

ged—22 YUY & BR & U 9§ et drel drgei &l

()

9 Uh " db

IR Ye1oT fhar g faf < YR & a8+l & 9l Jie &1, o 4

JpR & —

6

Piyush observed the vehicles passing by Piyush's house in one hour and moted

the number of various types of vehicles, which is as follows

dig Il YhX | HICX ~{1I$I(a>c'1 DN | 99 | ¢h
qIe-l Dl AT 9 6 | 3| 5
Type of Vehicle Motor cycle | Car | Bus | Truck
Number of Vehicle 9 6 3 5

3 3ifps &7 A fov v U% § Wy T ¥ <uigy |

Show these datas in bar chart in graph.
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I Td Tof BT —

Observation and Recording -

1. A QU Y =3 1 S@dHR qarsy b UeR gcel & (e 9T 4 R0l
e 3| 27 1
@uch @am @ wa (3 TS ( )
Looking the picture given below from which part of Bryophyllum sprout is coming

out ?
(A) Leaf (B)Stem  (C) Fruit (D) Root ( )

- -




2- = Ry Ty fF &1 <@aR 9Ty & 98 g -
(37) SIS BT (@) 9 STl 9T & B
(@) w@ @ (%) ™ B ¢ )
Seeing the picture given below this picture is of —
(A) Fire boming (B) Water filling capacity area of Dams.
(C) Draught (D) Earthquake ( )

3. faU U Sl S 3R Ul & fordl ol agax fi=ifhd Uel & IR QIfTg | 3

Seeing the Flgure of aquatlc animals and plants answer the followmg questlons
- -

(1) =R Ry 17 fF § sH-aA9 ¥ o e = 87
Which animals are seen in the figure given above ?
LR U RN T3
(2) I oy Y o # B-HIH ST Dol UMl B <R BT & 27
In the figure given above which animals live only in water ?
LS SN TN




(3) HAwell & B Ydh favar frRau s HRUTr a8 R Ul © |

Write one feature of fish which help it to swim in water.
RTUIN // ATIS. oo et e e e ee e e ee s ees e se e es s eeseee s eeeeeneenesn e

(4) Ry U JoReE & AFRE H T NTol @ fht 9 weRi Rrelt &
forfam | 3

From the given map of Rajasthan write any three neighbouring districts of Churu.

communication -

5. ST 918 & Siidd W 3T DI —aT oIF g of =1 a8 ? 3

Which three lessons do you learn from Jija Bai’s life ?
3N / Ans




6- (1) 37 fodl @ed &7
What is known as Igloo ? 1+2=3

RTUIN // ATS e e ee s s e e e ee s es e eeeee e ee e eeeeneen s eeneeneen e eeseen
(2) 91 | AN DI B dTed PIS QT JHAM [IRAT |

Write two loses caused to the people by flood?
DTN/ ATS e e ee e ee e ee e e e st aeen e es e seeeeeeeees s ses s eenes enseeseeseseennees

7. "G URAR" fIwg R AT ATyor Ui # ufovrfl & w0 § |ygaa
URIR * DT uel H A areg foriey ? 3
As a participant in the speech competition on the subject ‘joint family’ write three sentences

in favour of ‘Joint family’ ?

TR —

Classification -

8. B WHHU ¥ I & [l MY BT — 1
(31) fa=T BTRr AR @re @) {1 got ol ud |fssral &I @
(¥) W=5 oaTad & STNT () MG U BT SUANT | ( )

To prevent from worm infection we will do -

(A) Eating without washing hand  (B) Use of unwashed fruits and vegetables
(C) Use of clean Wash room (D) Use of impure water ( )
9- f=IfeRad gedl & IR Qo —

Answer the following question. 4+2=6



(i) PIed H U 70 Wl BT Bledr TSR T AR ISR Tl dlfeld]
4 foriag |
Identity the games in the bracket given below and write them in Indoor game and

outdoor game column.

Bldl  <dd < defied dasel

Hockey Table Tenis Badminton Kabddi

JS«IN / Ans.

$TSR Wdl /Indoor Games ISR Wl / Outdoor Games

(i)  g&i DI RIS HRA & oIy RT—a1 fhar ST =nfzy ?
What afforts should be made to conserve the trees?
3iX / Ans

10- =7 oAl & S forfRgu | 4+2=6

Answer the following question.

(1) TH el | & B & Sbs, Adn], adl, 3R g9 & o & e &1 T
ATl § ‘@ic 31’ 3R ‘wic g H qflqd BIfo |

(1) In one polytheen bag there are pieces of paper, coin, key, grass straw, classify these

items in ‘Plate A’ and ‘Plate B’ given below.



11.

©IC JA'—UFT H AR drell Iy ©IC Ul H I dTell 9

‘Plate A’ Those which swim in water ‘Plate B’ Those which sinks in water

25 &1 g IR BT HeE W INN Bl SFD AT | He pifu—

Gl AT &7 M AT & AT

1 difera TG HH ], Te¥ O eI+, UC ¥ g Y& |

2 SIGKIN faT H 4—5 I1 SUTQT K B, US H AIS S, S AR
213 1, YNTq HH A |

3 S I IR &1, R o g™ Sfecdl, BRI—IR F 3fhed a8
H IRf # Awar B

4 qiferar AHE [ DI W, T Ulell N1, Al iR ARG B
drer g, Sfeear 8

With the help of the tabel given below match the diseases with their symtoms -

S.No Disease Name | Symtoms of Disease

1 Jaundice Reduce appétite , yellowing of the face, pain in
the stomach.
2 Diarrhea More than 4-5 motions in a day , cramps in the

stomach,dryness of the tongue and lips ,
reduced frequency of urination.

3 Worm Fever , headache , sneezing , vomiting , spasms
infestation in hands and legs, later paralysis in the legs .
4 Polio Diarrhea with yellow urine , yellow tinted eyes

and nails , vomiting.

AT DI FGA™ & B9 H YA & oIy fhe—dH gg[eil Bl gredm S1g
3R IF R IMTRT HIF—hIH H FIAR B DI AATE ai 7 Hera o
forRe | 3+5=8

If you adopt Animal rearing as a occupation which animals would be reared and on the

basis on these what advice would you give others to do which type of occupation. Write
in brief.



Explanation \ Analysis -
12. A & R H 947 frdl =g & TIRIY T I Ahdl o— 1
(&) BLER (@
(@) TR (&)  THIRTS
At night who can fly easily without hitting or collading with any substance-
(A) Pigeon (B) Parrot
(C) Sparrow (D) Bat

13. UgIfer™ &1 RETs § YEIHRT TR B dievt uered ure fvy o 82
fsl 9 garert @ 9 forfay | 3

Name the substances obtained after the purification of Petroleum in refinery. Write any three

names of substances.

14. (i) B9 @ T WR A B o | 915 To @] GiBaT BT goi= oIty |

We eat food when we are hungry. Write in detail the process of Digestion ? 4+2=6
DTN/ ATIS oot teeeeeesess e ee e enesses st eese s ee e s ee s e e seeeesneseessesan s esnesnesassansneneanes sensasnsansansaneannanneas

(i) MR Seal W&xTE AT a1 Brar ? gy |
Why pickle is not spoiled easily? Write.
LS LR -\ TN

15. IuT SToT Dl JURT HRP ddisU STBT ITANT b fbg w7 § B FAhd &7
Iy} 5Tt &1 Ffed &= & Yfear &1 5 99180 |

Write the various uses of water harvesting system? Draw the diagram of water

harvesting process. 3+3=6



U HRAT —

e — U 99 & fory S faded &1 == $ifog—
Note- Select the correct option for making the question.

16. 19T BT ¥ T 9918 Fel DA & foIQ M H? 1
@) @ @ fem @) @®@ (@) 9 ()
To avoid the wastage of food---------- will you do?

(A) Why (B) How Much (C) What (D) When ( )

17. TER H IGARTAT HABT ... ERIMESIN I 1
@) =& @ e @ & (@) @9 ¢ )
multistory building are made?

(A) Why (B) How Much (C) What (D) When ( )
18. Wl & TXIbl § R FHI W 379 Tb AT IRl Pl S & oI qa—aan
g9 B Ihd 2° dlg arFd g9 foIlRay | 3

What are the questions you can ask to understand the changes of techniques of

Agriculture from ancient time to till now ? Write three questions .

Y} / Ans === - —
T BRAT —

Experimenting -

19. 1 & 9 I AT IRTR TR SN 3T weh— 1

@) @@ @ Wl @) el @) =
Seeing which light you will stop on the crossways or intersection.
(A) Red (B) Yellow (C) Blue (D) Green ( )

20. Ul & UTdhfdih d8Td &5 H 37eRIe AT+ UR 3UGl ATqIH— 1
@) Te @ @ (@) ol (]) B C )



Following disaster will occur if there is obstruction in the natural flowing area.
(A) Flood (B)Earthquake (C) Fire-bombing (D) Storm ( )

21- T2 HRD IS FAT SiRgA ot & H¥r? forfRay | 3

Driving Vehicle while drunk is dangerous. How ? Write .
ISR - TP

22. 1. BN Tl Aigcol ATh V8, 39d foTU RIT—aT B Fhd § ? dlg di ord

forRay | (5+3=3)

What can we do to keep our street clean? Write any three things.
ESESS S AN 1O

2 IFS UTHT T 2° AT Ul B WISl b1 gRReIfel & o 57

What is Cerebral Palsi? From which conditions do the patients of Cerebrtal Palsi
pass through?

23- (1) 98741 UTd UaR?e UR HeH WA drell Y Afger 9911 | d? FHeIsy |

Bachendri Pal became the first women to step on Everest . How ? Explain.  (5+3=8)




(2) =r=T &1 R b A 9 o fAfr 9@ gedr 87 &R f fafer o
I fdemat fawmg w8l qar?

From which day till which day does the size of moon increases. On which day the

moon is not visible at all ?
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